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1.

(25%)Modify the below PLA for controller of multi-cycle CPU with exception handling shown
in the following state diagram.
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2. (9%) Given the bit pattern

1010 1101 0001 0000 0000 0000 0000 0010

What does it represent, assuming that it is

a. Atwo’s complement integer?

b. An unsigned integer?

c. Asingle precision floating-point number? (IEEE 754)
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3. (8%) Refer to below figure, show each step and final value of each register in calculéting
01011101 <+ 0101.
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4. (8%) Multicycle Datapath:
lw $t2, 0($t3)
lw $t3, 4($t3)
beq $t2, $t3, Label : assume not equal
add $t5, $t2, $t3
sw $t5, 8(5t3)

What is going on during the 6™ and 12" cycle of execution?

5. (12%) getpid(72 (B B AERY Ml (system call) > (i FE 2 20T DURT A B EUSIT 1258 5165
(process id) = 5EEL getpid() S BIF > HIERIERY C RRxBAAA - BIF R AGE DT TIZBRIES
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6. (8%) LI DMA(Direct Memory Access)EE{¢SE hETEEE(interrupt driven)yfis 4 A FHER
B > DMA B {T{EE: 7 ST HBREEARE ?
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7. (12%) ()G &I (entical region)fizE » LB m B =THEA 2 (b)sk I ERER -
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